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Ml A5 :

create table tl(id int,name char(4));
show tables;

create table t2(id int);

show tables;

drop table tl1;

show tables;

drop table t2;

show tables;
HRfS 5 -

Tables |
tl |
Tables |
tl |
t2 |
Tables |
t2 |
Tables |

MR R2: BRBASKHEEN

RN

create table grade (name char(20),id int,score float);
Data Structure', 1, 90.5);
'Data Structure', 2, 95.0);
'Calculus', 2, 92.0);
'Calculus', 1, 88.5);

insert into grade values (
insert into grade values (
insert into grade values (
insert into grade values (
select * from grade;
select score,name,id from grade where score > 90;
select id from grade where name = 'Data Structure';

select name from grade where id = 2 and score > 90;
HAfsha -

| name | id | score |

| Data Structure | 1 | 90.500000 |
| Data Structure | 2 | 95.000000 |
| calculus | 2 | 92.000000 |

| calculus | 1 | 88.500000 |

| score | name | id |

| 90.500000 | Data Structure | 1 |



| 95.000000 | Data Structure | 2 |
| 92.000000 | calculus | 2 |

| id |

| 1]

| 2 |

| name |

| Data Structure |

|

Calculus |

MAR3: PREMSRHEEN

MR

create table grade (name char(20),id int,score float);
insert into grade values ('Data Structure', 1, 90.5);
insert into grade values ('Calculus', 2, 92.0);

(

insert into grade values ('Data Structure', 2, 95.0);
(
('Calculus', 1, 88.5);

insert into grade values
select * from grade;
update grade set score = score + 5 where name = 'Calculus' ;

select * from grade;

update grade set name = 'Error name' where name > 'A';

select * from grade;

update grade set name = 'Error' ,id = -1,score = 0 where name = 'Error name' and score
> 90;

select * from grade;
HATS 5 -

| name | id | score |

| Data Structure | 1 | 90.500000 |
| Data Structure | 2 | 95.000000 |
| calculus | 2 | 92.000000 |
| calculus | 1 | 88.500000 |
| name | id | score |

| Data Structure | 1 | 90.500000 |
| Data Structure | 2 | 95.000000 |
| calculus | 2 | 97.000000 |

| calculus | 1 | 93.500000 |
|

|

|

|

|

|

|

|

|

name | id | score |

Error name | 1 | 90.500000 |
Error name | 2 | 95.000000 |
Error name | 2 | 97.000000 |
Error name | 1 | 93.500000 |
name | id | score |

Error | -1 | 0.000000 |
Error | -1 | 0.000000 |

Error | -1 | 0.000000 |



| Error | -1 | 0.000000 |

Min=4: BRBIEFSREEN

Mt f51 -

create
insert
select
delete

select
HAfS 5 -

| name
| Data

| name

M3 525

M 451 :

create
create
insert
insert
insert
insert
insert
select

select

table grade (name char(20),id int,score float);

into grade values ('Data Structure', 1, 90.5);
* from grade;
from grade where score > 90;

* from grade;

| id | score]|
Structure | 1 | 90.500000 |

| id | score]|

EiZEl

table t ( id int , t name char (3));

table d (d_name char( ),id int);
into t values (1, 'aaa');

into t values (2, 'baa');

into t values (3 bba');

into d values ('12345' 1);

into d values ('23456',2);

* from t, d;

t.id,t name,d name from t,d where t.id = d.id;

select t.id,t name,d name from t join d where t.id =

Hitsha

d.id;



id | t_name | d _name | id |

1 | aaa | 23456 | 2 |
1 | aaa | 12345 | 1 |
2 | baa | 23456 | 2 |
2 | baa | 12345 | 1 |
3 | bba | 23456 | 2 |
3 | bba | 12345 | 1 |

id | t name | d name |
1 | aaa | 12345 |
2 | baa | 23456 |
id | t name | d_name |
1 | aaa | 12345 |
2 | baa | 23456 |

Mz S 145 AR
e Dbasic_query_test1: DDLIEE), Bl&create table. drop table. show tablesiZEaANIHFIE X HIEE,
® basic_query_test2: BRIEASFHEWNIENINE,
e basic_query test3: BREMSEMHEN
e basic_query_test4: BRMFRS KHEEN

e basic_query_test5: EEEIESFERIEENR

&1H = BIGINTEE!

M A5 -

CREATE TABLE t(bid bigint,sid int);

INSERT INTO t VALUES(372036854775807,233421);
INSERT INTO t VALUES(-922337203685477580,124332);
SELECT * FROM t;

INSERT INTO t VALUES(9223372036854775809,12345);
SELECT * FROM t;

EEESS T

| bid | sid |

| 372036854775807 | 233421 |

| -922337203685477580 | 124332 |
failure

| bid | sid |

| 372036854775807 | 233421 |

| -922337203685477580 | 124332 |



A {515 BR

o FEMMHR: bigintFERANEMNENREEMENE

&3 H Y BB 2By
AR =1 BREGIZNEIRBENENS, AEEFEREH#TIERNE

M 451 -

create table t(id int , time datetime);

insert into t values(l, '2023-05-18 09:12:19');

insert into t values(2, '2023-05-31 12:34:32'");

select * from t;

delete from t where time = '2023-05-31 12:34:32"';

update t set id = 2023 where time = '2023-05-18 09:12:19"';

select * from t;
HA{SF 5 -

| id | time |

| 1 | 2023-05-18 09:12:19 |

| 2 | 2023-05-31 12:34:32 |

| id | time |

| 2023 | 2023-05-18 09:12:19 |

AR R2: JHRANSEMEHITFIE

M 451 -

create table t(time datetime, temperature float)

insert into t values('1999-07-07 12:30:00' , 36.0);

select * from t;

insert into t values('1999-13-07 12:30:00' , 36.0);
t ('1999-1-07 12:30:00' , 36.0
t ('1999-00-07 12:30:00' , 36.

insert into t values('1999-07-00 12:30:00' , 36.0);
t (
t (
t (

values ) B
0)
0)
'0001-07-10 12:30:00"' , 36.0);
0)
0)

insert into

insert into values

7
insert into values

insert into values('1999-02-30 12:30:00"' , 36.

'1999-02-28 12:30:61"' , 36.

.
4

insert into values

.
4

select * from t;

HAfS



| time | temperature |

| 1999-07-07 12:30:00 | 36.000000 |
failure

failure

failure

failure

failure

failure

failure

| time | temperature |

| 1999-07-07 12:30:00 | 36.000000 |

MR 3 {4157 ER
e storage_testl: EREIGIENEXRENEMY, HEZFE LHTIERNE,
® storage_test2: XJBY[EIZEELAYE MRV NENEIEMEFHITAIRT,

B A HE—F5]
MWikm1: eI, MR, BRRESI
M-

create table warehouse (id int, name char(8));
create index warehouse (id);

show index from warehouse;

create index warehouse (id,name);

show index from warehouse;

drop index warehouse (id);

drop index warehouse (id,name);

show index from warehouse;

HAts
| warehouse | unique | (id) |
| warehouse | unique | (id) |
warehouse unique (1d,name)
h i id

Mif=2: R5|Eif
W

create table warehouse (w_id int, name char(8));

insert into warehouse values (10 , 'gweruiop');



insert
insert
insert
create
select

select

into warehouse values (534, 'asdfhjkl');
into warehouse values (100, 'gwerghijk');
into warehouse values (500, 'bgtyhnmj');
index warehouse(w_id);

* from warehouse where w_id = 10;

* from warehouse where w_id < 534 and w_id > 100;

drop index warehouse(w_id);

create
select
select

select

index warehouse(name) ;
* from warehouse where name = 'gqweruiop';
* from warehouse where name 'gqwerghjk';

vV VvV

* from warehouse where name

drop index warehouse (name) ;

create
select

select

Hitshm

w_id
10

w_id

'aszdefgh' and name <

'qweraaaa’';

index warehouse(w_id,name);

* from warehouse where w_id = 100 and name = 'gwerghjk';
* from warehouse where w_id < 600 and name > 'bztyhnmj';
| name |

gweruiop |

| name |

500 | bgtyhnmj |

w_id
10 |

w_id

w_id

| name |
gweruiop |
| name |
gweruiop |

| name |

500 | bgtyhnmj |

w_id

| name |

100 | gwerghijk |

w_id
10 |

|
|
|
|
|
|
|
| 10 |
|
|
|
|
|
|
|

| name |

gweruiop |

100 | gwerghjk |

MiXm3: RS54

Mt A5 -

create
insert
insert
select
select
create
insert
insert
update

select

table warehouse (w_id int, name char(8));

into warehouse values (10 , 'gweruiop');

into warehouse values (534, 'asdfhijkl');

* from warehouse where w_id = 10;

* from warehouse where w_id < 534 and w_id > 100;
index warehouse(w_id);

into warehouse values (500, 'lastdanc');

into warehouse values (10, 'uiopgwer');

warehouse set w_id = 507 where w_id = 534;

* from warehouse where w_id = 10;



select * from warehouse where w_id < 534 and w_id > 100;

drop index warehouse(w_id);

create index warehouse(w_id,name);

insert into warehouse values(10, 'ggggoooo');

insert into warehouse values (500, 'lastdanc’');

update warehouse set w_id = 10, name = 'ggggoooo' where w_id = 507 and name =
"asdfhjkl';

select * from warehouse;
HRfS 5 :

| w id | name |

| 10 | gweruiop |
| w id | name |
failure

| w id | name |

| 10 | gweruiop |
| w id | name |

| 500 | lastdanc |
| 507 | asdfhjkl |
failure

failure

| w_id | name |

| 10 | ggggoooo |
| 10 | gweruiop |
| 500 | lastdanc |
| 507 | asdfhjkl |

A {515 BR

storage_test3: BlIE. #ikf. BR&R3l.

e storage_test4: Z3|&EiH,

e storage_test5: 5|4, FERIEERRSINRTP, TFEEER T TAEFHEANRSIBLE, SERE
AN EE I TTAE R T H— X5 BRI Eoutput.txti@ N failure, FEMRESXHH, REEUTER: X
sk R EEIRS|RI, RPELFEMR T THAEBHERNERSIBMLE.

e judge_whether_use_index_on_single_attribute: GIERHIBEBAKIER, HITKERIIEN, ICFRFEN
time_a, ERIIBIERS|, BHETARERYEN, iCRFERNtime_b, Htime_b /time_a * 100% <= 70%,
MAERFNEWINER T RS, BFAEEERRS, WLLR20MXR3ZF 5.

e judge_whether_use_index_on_multiple_attributes: SIEZXRHABAEUER, HITAEZIEN, ICFEN

time_a, BIEZINRS|, BRHITAEZIIEN, ICRFEMtime_b, Htime_b /time_a * 100% <= 70%, 1

NEZIERMER T RS, HEHEREFERERES], WSR2t R3E S,

A E 7N REREN



Mt =1 SUM
M) -

create table aggregate (id int,val float);
insert into aggregate values(1,5.5);
insert into aggregate values(3,4.5);
insert into aggregate values(5,10.0);
select SUM(id) as sum _id from aggregate;

select SUM(val) as sum val from aggregate;
HAtS

| sum id |
|9 |

| sum val |

| 20.000000 |

Mits2: MAN,MIN

M A5 -

create table aggregate (id int,val float);
insert into aggregate values(1,5.5);
insert into aggregate values(3,4.5);
insert into aggregate values(5,10.0);
select MAX(id) as max id from aggregate;

select MIN(val) as min val from aggregate;
HATS 4t -

max_id |

5 |

min val |
4.500000 |

M3iX£E3: COUNT(),COUNT(*)

Mt 451 -



create table aggregate (id int,name char(8),val float);

insert into aggregate values

insert into aggregate values

insert into aggregate values

select

select COUNT(id) as count_id

select

HAts

e

count_row |
3 |
count_id |
3 |
count name |
2 |

AR S 45 ER

e aggregate_test1: sumREUNIH, FREURBOA/NER, BHEAE TN, ashlBEKRESQL—EN,

® aggregate_test2: max. minERECINL,

(1, 'gwerasdf',1.0);

(2, "'gwerasdf',2.0);
(3, 'uiophjkl',2.0);

COUNT(*) as count_row from aggregate;

from aggregate;

e aggregate_test3: countfREUIN,

F1H+ order byiR{EFF
Rl

M A5 -

create

insert into orders values

insert into orders values

~e

insert into orders values('ACA',1);

SELECT company, order_ number

SELECT company, order_number

SELECT company, order_ number

SELECT company, order number

Hifshmh -

FROM
FROM
FROM
FROM

orders
orders
orders

orders

ORDER BY
ORDER BY
ORDER BY
ORDER BY

COUNT (name) as count name from aggregate where val = 2.0;

table orders (company char(10), order number int);
('AAA',12);
insert into orders values('ABB',13)
('ABC',19);

order_ number;

company, order_ number;

company DESC, order number ASC;
order_number ASC LIMIT 2;



ABC | 19 |

company | order number |

AAA | 12 |
ABB | 13 |
ABC | 19 |
ACA | 1 |

company | order number |

|
|
|
|
|
|
|
| aca | 1 |
|
|
|
|
|
|

ABC | 19 |
ABB | 13 |
AAA | 12 |

company | order number |
ACA | 1 |
AAA | 12 |

A {515 BR

o EBNKS (order_by test) : B1&EBEZFEorderby, ZFERorderby. limit=E&. FFHFE ML

AR/ RERERHEEEE
N5
AT

select * from tl, t2 where tl.id = t2.id;
select * from tl, t2 where tl.id < t2.id and t2.id < 1000;

A {515 BR

e join_test_1: FHEEZEMIL

e join_test 2: ANHEEEML

B EN FSEHIED
A=

M 451 -



create table student (id int, name char(8), score float);
insert into student values (1, 'xiaohong', 90.0);

begin;

insert into student values (2, 'xiaoming', 99.0);

delete from student where id = 2;

abort;

select * from student;
HA{F 5 -

| id | name | score |
| 1 | xiaohong | 90.000000 |

Mzt S {5 BH
e commit_test: FEHERMiKX, FEEES]
e abort_test: FEEERME, FEER5|
e commit_index_test: BHEEZNMIK, BISZE5|

e abort_index_test: BHERNNE, BEFS5|

=y E??E%ﬁi‘ﬁiﬂﬁﬂ’\]ﬂ%ﬁﬁﬁ%ﬁ%ﬂ
MK FIMTRRR SR MM AMBES

Mt A5 :

-- MIBERUEREHITN
create table concurrency test (id int, name char(8), score float);
insert into concurrency test values (1, 'xiaohong', 90.0);
insert into concurrency test values (2, 'xiaoming', 95.0);

insert into concurrency test values (3, 'zhanghua', 88.5);

-- BH1MRKIES:
tla begin;

1
N
~e

tlb update concurrency test set score = 100.0 where id

tlc abort;

tld select * from concurrency test where id = 2;
--E5209 MBS

t2a begin;

t2b select * from concurrency test where id = 2;

t2c commit;

HAfSHRIERT:



tla t2a tlb t2b tlc tld

Az S 145t AR
e concurrency_read_test: FH&IEMIK
e dirty_write_test: BES ML
e dirty_read_test: FEIENEK
® |ost_update_test: ELBETMIE
e unrepeatable_read_test: REJEEIEMIL
® unrepeatable_read_test_hard: AAIEEIENIE
e phantom_read_test_1: &ML
® phantom_read_test_2: ZJEML,
e phantom_read_test_3: ZJ3EMI%

e phantom_read_test_4: ZJEMIX

B ET— RFANERE
A=

M 451 -

create table tl (id int, num int);
begin;

insert into tl values(1l, 1);
commit;

begin;

insert into tl values(2, 2);

crash /1 BREHRBEILIES

ERRS

select * from tl;

A S {415 BR

e crash_recovery_single_thread_test: BNMEFImER, AAHEMEN L, FEEE5]
e crash_recovery single_thread_test 2: BMEFIGEE, RAKEMREN L, S88%F5]
e crash_recovery_index_test: BPMEFIRERE, S2%5|, WRAKEMREIEPRSIN—HIERSHTIE

)

e crash_recovery_multi_thread_test: ZPMHEBRZIZTIEFRNE, RAKEMENL, FEERSI
e crash_recovery_large_data_test: ZNMHEASBHZGTIRFHIE, RFHEMRENR, 22K
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